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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
oY SPIRINR e fa '
{a) Mention one need for studying
economics.
SRS SGHT B AT TeEy 47 |

(b) Define market economy.

IR ST FAge 74 |

22A/428 { Turn Qver )



(2)

(c) What is elastic demand?
fomers vifdm R 2

(d) Draw the perfectly inelastic supply curve.
o SRR QI [T e 47 |

(e) Define an inferior good.

AR e vicen fieam |

() What is income consumption curve?
o1y Beigeler (=1 R

(g) Distinguish between short run and long
run with the help of fixed and variable
- costs.

7w JREARle R YRR TITS TFIEA
I TR <N g 5411

) 'What is producer’s surplus?
Beoime By 2

(i) “Supply curve is not relevant for
monopoly.” Why?

“qeoioal IHES @ @RR ATel Ji% 17’
e
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(3)

(i), Why is the average fixed cost curve
rectangular hyperbola? ‘

% 73 I qIeE Ry W *[HgS = 7

2. Answer the following questions briefly : 2x5=10
o9 2T B Tl fa

(a) Distinguish between positive economics
and normative economics.

FARfEr TS oe AT TRy s
e Refg w1 1

(b) State two exceptions of the law of
demand.

it R 51 e STE 1

(c) Distinguish between ‘change in demand’
and ‘change in quantity demanded’.

iR RS e iR ARWMeR siReEA’T
Trers N [efq w41 1

(d) Prove that two indifference curves do not
intersect each other.

o F @ woE feers @9 IR IR
(ISR
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(4) (5)

(¢) Why is the long-run average cost curve (d) Explain the behaviour of profit

‘U’ shaped? maximizing firms with the help of
- marginal revenue and marginal cost
TR o1 T @O ‘U Sgphed [ =2 ' approach.
AEF OH W AMRF IR GRIR S TS
3. Answer any four of the following questions : A 1 ARHI S5 [ F4 |
5x4=20

e) Explain that substitution effect is always
TER 2 R e oo Sew frn ) n:gaﬁve_ y

4 T @ ARSI Rl T 4 |
() What is budget line? Why does the

budget line slope downwards? () Derive demand curve for a Giffen good.
AT g1 7 AT @A R ST R : foices AR TR QA RAE W/ F
et
[?
' 4. Answer the following questions : 10x4=40
(b) Distinguish between normal goods,
substitute goods and complementary T PICIES Te] Tl
goods. . {a) Explain how the price system allocates
FeoRe s, Rew TRA OF ReEs THaR resources. 10
Ere #f1ef e 0 W I[ER @S T SRBT IS, W
F41 |
(c) What is monopoly? Explain why the Or/ Q<1
r.narginal revenue curve of a monopoly What are the main problems of an
lies below its average revenue curve. _ economy? How does a free economy solve
s IwRT R fm | aeolom e iR them? , 3+7=10
W @ T W RYR Oee SREH 909, AR T AR B R [ wkaRe
RanEL FERIZ, (% TR TR MY ¢ 2
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7
(6) ot

(d) What is price rationing? Analyze the

. impact of price rationing on the market.

are its determinants? Discuss. 3+7=10 2+8=10
R W@ ffmrre 7 WR Rl &

V1 TR 7 v TSI IWIT 8RS T
R 2 seeme T4 : o1 oo Rewsa w411

(b) What is price elasticity of demand? What

Or/ 931 Or/ a3

Exolai ) Discuss the factors responsible for shift
xplain t.he concept of marginal rate of in the demand and supply curves. 5+5=10
substitution with the help of diagram.

Why does marginal rate of substitution SIS AN (T FARRS (RER SR
diminish? 6+4=10 ST T | :

B re afts afResm =T GRERET M

90 | 21feT aifdess TR R TrEm =

* % %k

(c) Explain the determination of wages
under competitive labour market. 10

affrone wwa oRe TR R afem

TR FR1

Or/ 91

Derive input demand curves. Discuss the
factors responsible for shift in input
demand curves. 6+4=10

TR I IR e A R0 | BowR
TR @ GRS (AR IRER Al
B '
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